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Topic:- Child Development & Pedagogy (CDP)

1) A student is provided with a choice of 15 topics of his/her interest to complete an assignment. This increases his/her

learning engagement. / WW@WWW%WW/WW% 15 iU o8 o %I
g 39 T Bl # gfg FRaT 21

1. Intellectual /Eﬁm
2. Behavioural/ dgR

3. Emotional /HIgd
4. Social / ATHINIS

Correct Answer :-

« Intellectual /m

2) ADHD children have difficulties in which of the following areas? /

fFafafea & 4 f5a &7 # cSivad) =i o $ieE gt 82
1. All of the above / SUdad Tt

2. Attention only / Bdel &I &1

3. Hyperactivity only / ad 3ifd gfgparar

4. Impulse control only / Fad AT a1

Correct Answer :-

« All of the above /wjaﬁmﬁ

3) In an intelligence test a 9 years old boy is found to have mental age of 10 years, he belongs to the IQ classification of

. | T g wder § te 9 9 ¥ v B AHRS 39 10 99 UrE &R B, @€ ¥
Fiffervor @ Tdfta 21

1. Superior / I (GARER)

2. Average / 39d

3. Genius / UfTHTRITER (SHFT)

4. Slow learner / FHGUTRT (AT FFTT)

Correct Answer :-

o Average / 3Md

4) Which theory of development also focuses on social interactions in development? / fd®TH &1 HE-T frgia, oo i |
g wael W ot e Hfga wrar 82

1. Vygotsky / CIEUIRS]
2. Piaget / ot



3. Freud / /PIOS

4, Kohlberg/ W‘f

Correct Answer :-

. Vygotsky / AT

5) Asking students to list the uses of iron metal in class will help a teacher to examine which one of the following creative

abilities in students? / BTl B! H&T T A BT YT P ITANT B A5 B & T Hg-11 Th RNgrw ot 9g o= &
e BN P ol § fFufafad # § e19-W AT & g2

1. Flexibility / TIeT

2. Originality / ﬁm
3. Elaboration /ﬁw
4. Fluency / Ydlg

Correct Answer :-

« Fluency /Udlg

6) The movement in Maslow’s Hierarchy of needs should be from /W%W%Wﬁ ATIYH T

T =fRe-

1. Love and belonging to Physiological needs / TR 3R 3(TATI T Il ALl ddb
2. Self- actualization to Physiological needs / 3TeH-fIRATOT & IR SaRgehdl db

3. Safety needs to Self-actualization / GR&T STAIH T H ST [V I

4. Physiological needs to Self —actualization / FTHTI® RIS § T Rifg dd

Correct Answer :-

« Physiological needs to Self —actualization | QIR Saaddr ¥ 3 Rifs a

7) Select the quality that is needed for a counselor. / ARl & i%nz SMTagP fa=war 1 7aq B |
1. being judgmental/ fAufas g

2. being arrogant / SHTAT BT

3. being empathetic / Wﬂiﬁ RS BT

4, being defensive / Y&THD Gl

Correct Answer :-

« being empathetic / ﬂ%’lﬂiﬂﬁ RS g

8) What is an infant likely to suffer from if the mother consumed large amounts of alcohol during pregnancy? / IR

TUTTRIT & SR AT A TSI 41T & IR FT Ja- fHan §, 9 R3] &) 71 Joar g1 & GUe 82
1. Prenatal retardation / U¥Id 113‘ Hedl

2. Fetal withdrawal syndrome / 40T a0} RigH

3. Fetal alcohol syndrome / Y01 Te] Rigid

4. Perinatal alcohol syndrome / PRECIRIC RG] ﬁl@l’q

Correct Answer :-

« Fetal alcohol syndrome / YOI W%@q



9) What strategy should a teacher use in a situation when the student is being impolite? / STA ¥ JES B o ot RAufa o

T fR1gr I forw Torifar &1 SuahT - ey

1. Punishment / 8

2. Remind the student of classroom norms / H&fT Il &I B & ATG fGAMT
3. Argue with the student / ST & 1Y qTe-faarg BT

4. Express shock / Sy B AT

Correct Answer :-

« Remind the student of classroom norms / D& A & sl &t g éa q

10) What is the term given to describe the conditioned stimulus before classical conditioning occurs? | FATRIS A

ST § A Ugd SJafrd ST 1 qui+ $ & R 19-91 s fear mar @2
1. Natural stimulus / m JST

2. Unconditioned stimulus / \’ri:ﬂaﬁlﬁ JaoT

3. General stimulus / JMHTI IToHT

4. Neutral stimulus / TCR] ST

Correct Answer :-

« Neutral stimulus / T 3T

11) What is the set of linguistic rules that govern the use of language for communication called? / ‘HTQ'I% BRI

PIF-9T T4 § S HUR & fore v & v &1 fFifia srar g
1. Grammar / H[H0]

2. Phonemes / W+

3. Pragmatics / ST

4. Syntax / AT ﬁﬁlﬁ

Correct Answer :-

. Pragmatics/GqC-I frdrare

12) By the age of six months, infants are able to do the following, except WA:H K] 31 P, QT‘{[ R

_ e sismdaema gl
1. Babbling / JadT

2. Crawling / Ud & & I (SHITeIT)

3. Situp / 964

4. Eat solids / 31 U&Td @M

Correct Answer :-

. Crawling / Ud & §& I (ShITCIT)

13) When social beliefs are transferred from one generation to another, it becomes part of: / SId AT AT

T N & gadt i & wirAiafva far sman 2, @ ag g9 it a9 9 8:
1. Transmission of culture / WWW



2. Social mobility / FTHTTST TfaRiterdr
3. Social change / AT TRaed
4. Individual development / HfgaTTd faer

Correct Answer :-

« Transmission of culture /W T IRT

14) Personality is measured based on approach./ feda ai TRDIVT & ATYR YR HIUT STl %I
1. Ideographic/ TATER favge (&Té%’ﬁ e )

2. Socio-radical / wﬁmmeﬁ

3. Surface-radical/ ﬂﬁﬁ-m‘lﬁ

4. Nomothetic/ AR SUH Ghﬁm

Correct Answer :-

« Nomothetic/ AR I @HIYH)

15) In which of Piaget’s 4 development stages is object permanence developed? / o & 4 oo srawmsi 4 A frd
AT ¥ g WTfea fasfa it 82

1. Formal Operations / Maies dfhards
2. Concrete Operational / %f BIERICAED

3. Preoperational / tlj Sfcharard

4. Sensorimotor / 3+ JfAd

Correct Answer :-

« Sensorimotor / 3‘@71 S

16) Piaget’s Pre-operational stage is from ___ ./ firars 3t Qﬁ-ﬂm AT %I
1.7-11 years / 7-11 EI'ET

2. 11 years and above / 11 atfqa 3fIH

3.2 -7 years / 2-7 %

4.0 -2 years / 0-2 Gl

Correct Answer :-

. 2-7years/2—7a'5f

17) Who said, An intelligence is a “biopsychological potential to process information in certain ways in order to solve
problems or create products that are valued in at least one culture or community”. ICE] Pel, §@T|T'|T IS B g
P 1 HU A HH U GP1d 91 9T § Tega SATG1 B g9 & Y 8 ahie! A THSRI B JH1fd A3 &
fore Sig A emar 31

1. Gardner/ TSR

2. Willinghany/ fafeied
3. Callahan/B e

4. Sattler/ @W



Correct Answer :-

o Gardner/7 g:R

18) According to Psychosexual developmental theory, failure to successfully complete a particular stage would result in: /

T Ry Risid & AR, TP Rk 2101 & Shadgde {1 &3 ke & uRomeaw=g gnm:
1. Fixation / FRRRIHRUT (i)

2. Libido / BTHIISHT

3. Electra complex / Teiag] HAURY

4. Oedipus complex / 3TFSTF Uy

Correct Answer :-

. Fixation / FUSH0 (Thaim)

19) By what age are children likely to make friends? / frasydsa i & TP B %'?
1. Four years / IR Ty

2. Three years /?ﬁ?{atf

3. One year / Wﬂ'sf

4, Two years /a3r Iy

Correct Answer :-

+ Three years / GIRkL]

20) is the main determinant of cognitive development and learning. / AT fapr 3 Srftrm
BT HE] fFuRe B

1. Values / 313&[*13
2. Beliefs / HI=dT

3. Principles / Rygid
4. Culture / Wﬁf

Correct Answer :-

+ Culture / W

21) If a child has difficulty putting words down on paper, it may be due to a learning disability. The best instructional
strategy to implement in a classroom to support children who struggle with writing would be to: /Tlﬁ' P s &t Q'IE-']'
B HRE R e # $f31E gt B, ot a5 iRReme sremrar & w1 §) adar 3 | AW & 01y Had w3+ ard a1 31
TUYT F & T Fem T an] F31 g g9 St srgeRE® YuHita fAafefaa g

1. Provide more time on task/ T8 TR 3{fe THY Tald hm

2. Provide extended periods of time in the resource room to receive one-on-one assistance/ gA-3i9-a9 Herdl Ured I D ]%’I'Q
T Hef T THT B fawaiiRd Safy UgM &

3. Provide peer tutoring during writing time/ G T &b R W?ﬁ[ﬂ:{ YT AT

4. Provide detailed directions and graphic organizers to help with structure./ TR & 1Y Hag P & [ ﬁﬂﬁ IBCRUIEIRS
ATt 31T UaT BT

Correct Answer :-



« Provide detailed directions and graphic organizers to help with structure./ ST & 1Y HGg HA & forg ﬁﬂﬁ [GEEIREIR
Uiithes TSI UG BT

22) The variable that the scientific investigator changes or manipulates is called:/ dg o} 5K aﬁTﬁ?ﬁ 3AYD deddl %
T FTHR HT 8, S BT ATdl 8-

1. independent variable/ Tdd TR

2. responding variable/ RERARIIEN
3. Control/ IIH

4, dependent variable/ SIERICH

Correct Answer :-

« independent variable/ Tda T

23) The mental networks that children form in their mind is known as: / Eicik:d ﬁ'ﬂT‘T ko aﬁ RIS W Al
T U A SE1 a1 8:

1. Impulses / AT ()

2. Archetypes / 3T (3ATHCTSY)
3. Maps / Q1T (HY)

4. Schemas / ORI (T 1H)

Correct Answer :-

« Schemas / GRS (B 1H1)

24) Which animal was involved in Pavlov’s experiment of classical conditioning? /

UTTAd & FATRIGE B3 IRIT-HT S TR H BI-AT FaR A Y12
1. Dog / Pl

2. Pigeon / MR

3. Rabbit / @RI

4. Rat / ggl

Correct Answer :-

25) Which of Erikson’s stages of psychosocial development involves the development of a sense of competence? / Qﬁ?\"’l‘[

& TS faer & S wror & uferaifrar @1 wren &1 faer afefrd giar g2
1. Autonomy vs. shame / XAl FTH Il

2. Industry vs. inferiority / REUERIEEHRG

3. Generativity vs. stagnation / SITIIHB AT §H R

4, Initiative vs. guilt / Ue <l d-1H ALKl

Correct Answer :-

« Industry vs. inferiority / I S g

26) Which of the following is not a hindrance to creativity? / frufafea 4 9 w1 wATEsa & 'I%IT{ Udh SaRIY :Iﬁ%"



1. Divergent thinking / o I

2. Functional fixedness / BT R STRIT
3. Convergent thinking / SR 9

4. Mental set / ATRI® I

Correct Answer :-

« Divergent thinking / IREKIE]

27) Which of the following disorders is caused due to error in cell division?/ PIRDT fauTor & aﬁ' & orul fFgfafag
Hq pH-I1 fIpR gt g2

1. ADHD / TSITdS!

2. Dyslexia ) fewaifaaan

3. Autism / 3fTcoH

4. Down’s Syndrome / SI3 ﬁl*_@'q

Correct Answer :-

. Down’s Syndrome / 813 =g 1H

28) The practice that legitimizes powerful men’s dominant position in society and justifies the subordination of the common
male population and women and other marginalized ways of a being a man is called . /ai;'um\—:ﬁm\—:r |

Sifr=el gl @t guTd! fRAfA B 34 F1elt @ 3R S Yo Srrardt SR afgansii & srfiar &) shfres v =t
2 3R U IoU g1 & o Wi afiwl Y PRIl

1. Femininity/?;ﬁar

2. Emphasized femininity / @ W SR ST
3. Complicit masculinity /aﬁatﬁw

4. Hegemonic masculinity/%@mm

Correct Answer :-

» Hegemonic masculinity/%@mw

29) What do you mean by curriculum? /Wﬁ STYDRT HT Hddd Eﬁ?lT%’
1. Sum total of the activities of a school. /ﬁWﬁWHﬁWI
2. Sum total of the annual study. /HT% AT Bt JHU|

3. A child learns through curriculum. /WWW@ &WW% |

4. Indicates the course to be taught by the teachers to the students throughout the year. /@ﬁﬁﬁ&lﬁmmﬁ UelU
ST TS UTeash 1 S1d IR 3

Correct Answer :-

« Indicates the course to be taught by the teachers to the students throughout the year. /ﬁaﬁﬁﬁmmiﬂa‘rﬁ UelU
T 9T UTSUshH & ST R B

30) Students can overcome their misconception for the long term through: /

faremdf Srafafer & fra Arenw § A g srauRoUmS ¥ UR UT 9Hd § 1
1. Traditional teaching / URUR fRrefor



2. Standard teaching / HIh fRrefor
3. Refutational teaching/ fARTEHT Rrgror
4. Conventional teaching / TRURTTA fRraror

Correct Answer :-

. Refutational teaching/ FARTEHUT fR1&f07

Topic:- General Sanskrit(L1GS)
1) P . [t - >,
Ag Sl AR RHT T Ug<9d ?
[ h |
Hd™ hldh
1.
-
RIS |
2.
, AR |

JAATARIS |

4.

Correct Answer :-

-,

HdhIS |

Correct Answer :-



BEISERRS RS
| 5 & e |
_ A ©: B |
, 5 & &I |
Correct Answer :-

| dovh: & e |

C . . .
, HHEME: A ST I |

° [
, AT STSHE ST FA |

Correct Answer :-



ie: |
3.

C
, gH: |

Correct Answer :-

1.T'EJITI

ad: |

; q: |
4.?1'3L|

Correct Answer :-

d: |



=~ I
, T GG

, T AT

Correct Answer :-

10) ’,‘\ ’ T ?
FE A Y9G ThH
L) : |
1.
T |
2.
, @ |
qa |
4.
Correct Answer :-
™ & : |
11) el

1.

~ -~
2.

. -

:

3.

. 0=
4.

Correct Answer :-

. 0



.

ER

3.

L
) o5 |
Correct Answer :-

4|

13) .
‘YIS AATAST TATSTGIET ST ARG T 2

ST

-

d<: |
qH: |

, T

Correct Answer :-

-
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3.

15)

‘3TEGTTh: STelhd & IO’ 3cTF “dlefeh” s PR fohe 2

| R |
%d |
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Correct Answer

) TgdrmEEE aftia: St Tl % 2
. qit:
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Correct Answer :-
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Correct Answer :-

4.

o N e Y .

4.

Correct Answer :-

il e A S ot



A=< |

B:Eh'lifﬁlﬂ|

. [ e |
HIAERITATHAH,
4,

Correct Answer :-

® o o arafa’ scaa fga 3fd ug e 2
 fern-ferzmom |

| e |

| ferreom |

, TaH |

Correct Answer :-

e |
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3

FAREET |

Correct Answer :-

T g e 2
. <3 e |

N <31 T |

, <3 \h: |

. a'ilﬁ'q?ﬁ: |

Correct Answer :-



AFTE: I A [FH 2

Topic:- General Hindi(L2GH)

1) 3rTed Fom Hiaar H 3 7 3 vall B WA @1 3| T U4l S GAR SR SR T¥pia 313 3R gERT S srdben friag 81 98 T aRE @
THR AHY 3R T 1 g1 Foror 31 o o1gT Yo Y 3rdvent Y 31 Wi fG7-3ra o=l 31 7 wwa ot % o aropa SR fFT & R 21 3
ToRit v wreT # wepfa W gfia 31 a5t we po ugT ok ag@ e W R 31 we ok g R Ry o arel & R Su war A B
SRTE 1 81 G81 agt WX § Sl T 3R TUft &1 Uehaw Harrdd | ST HTHT & AT B HTHT Serdlt ¢ | Tafh S & g g Tavew fadied fRufa
81 ST aTod g1 98T Sl A5 g1t HelT SR ATHd UP-guX & g9 ¢ | I8! FRYT ¢ {6 AN ) g 3t Ha BRI F¥d § W 98 Ford fomdt
J 7€ 1 I W 39 = ) 3@ TET §, W R T 9 A T peraa/gaet faen 8 T eRY, 36 /D1 [ ol 3T 9P 3/ 7 WY T
TR 98 $D 81 B APar| 3§ W T el & sned o 81 78 81 39 IR §F ofis ive =i IueT U1 M| IUFT e F FAS e 39 e
T gt AT g1 8 76 e dion & Tia &) g Y 35071 o T@ar 81 98 581 Tt & ufd o 3T uefa ¥ 3 U 81 fdag derdadh &
3T Et 33t 38T B Wellyd gl 3@ 81 39 vaT & 5 <diom aienht smaxy, R 9o 39 Tt R Me A 37d Wia ot $wf,
TEATDHieN, GV, TTEaT HRT G & St M1 BT Sifart 3T 9 7147 81 IR I9H Agsar 3R w5 on &1 wia it g =81 81 98 sror g for wfia
B G & 916 T T RA TR W IR T SR 78 A € R a1 S aun & are | R S @1

ITe TR Y UgHT A TR T WY BT IR Iad15d:
UH- dYOI 3a%g $d dienil?

1. 99 3 Fa1-IRRI TG |

2. 99 Y TR H 1Y S|

3. 919 39 31 fowar smam|

4. S 39 ST Y|

Correct Answer :-

. O I FAI-TRRYG e o |

2) -3raTed qrom BT # Iy A 3 sl B WA @1 3| U T4l S GRER R GRART G pid BT 3 3R gERT Sraben fRiag 81 98 TP e A
TH THY IR TS BT 8 RrA01 ¥ 1 T Stet kiR oY i et 3t wnfort -1 weeht 31 % Wy St ¥ orged dreva ok R & i 313
Terelt A wiel @1 depra W gfia 81 7T 99 $o ugd R TrgHEiar ) fik 31w ok g1 W A w3 arel & R S ar A 318
TG T8t 81 IgT agt WX & St [t o oft ¥1 TpawH Ferad | ST WTWT X Y WISt 81 Safs we & e ag e fadidh fRufa
21 <1 ard g1 a5t Har 1E gt we ok ardhd Uh-gu & gRUH 21 I8t FIRYT ¢ 6 fon &) oM 3t 9 B vd & R a8 I fasdt
F 76T | 3o Wt 59 99 F) T@ W R, TR BR T O WH Jq Fara-~d/qas! I 8 T8 Ry, 3 R/AS 1 ot oreT 9 5§ 7 91y Jah1
TR 9% PO 81 B APar| I W T el o sned ot 81 73 31 39 IR §F ofis iRe =il 3wt ur M| IS ate F S w1 39 e
H g A1 5t @ o a5 Fion & W &1 g 9 g1 o T 81 97 $1 Wi & ufd IeRit 31 i @ oo fim 71 fikdag Sxidadt @
3T E 32t 38T B Wellyd g 3@ 81 39 vaT 8 5 <dion el smaxg, W aviee 39 Tan-waRis M A I¥d Wi ot §wi,
AGQTBIE, B, Tl URT 3T & Wil R 7 S ard 3 99 741 8 1 WR IqH Aear 3R S0 &7 wia 3l g 61 8 1 76t Rt & f wifta
B G F 916 T Tt R TR A IR T SR 98 IR E AR 41 9 auR F 91¢ W1 AR Sar g

Iu TR Y UgHT Y U T WY P IR Ia18d:
UTH- el $ fo1T UpeH faRiel fRufa st 2
1. HATHR BT YT T HTST ST



2. HATHR BT Hal | fored g
3. HATHR DI IFad Ged = e
4. HATHR BT Y@ BT

Correct Answer :-

« HAPR BT AT BT HINT ST

3) <3N From Hiaar & 3R A 3 uail &Y WA @1 8 | TP U Sl GRAR 3R SRR} TRpid BT 3R g1 ol 3rdpal fiag 81 8 U dRg 9
THR THY 3R U1 BT 81 forror 8 | T 1gT faRieh ) srbar st o [iforsn faA-3ra et 81 98 90 St ¥ o a1 ok BT w813
ot duT oTet B Twpfa o gitra 81 9eT 99 7o ugd iR argemiivar W ik §1 W 3R g W Ry w1 aral & e 39 Grar A A
ST 1Y 81 98T agl WX & o Fh ofk uft ¥1 UaheH wardd | ST UTaT B T B uTaT et 81 Safd s & e ag veen AR fRufa
1 ST8T aTa g1 a5t Har TE gt we SR AT UP-gu & g 2 | I8 FIRYT ¢ 6 fon ) s 3t He BRI v § W a7 aord fasdt
F €Y | 3o Y 59 T9 H) T W7, TR BR M H WH Jq ara-d/Has! {3 g T8 bRy, 3 gR/AS 7 ot ol 9 58 7 91y Jab1 1’
TR 98 O 81 B Joparl I o T qranial @1 3ingd I 81 7 21 39 31 & s 1R &t 3@t U M| IHH! e | St e g el
H ga- A7 5=t 8 b 95 Fion & Wha 1 G B 301 ot Taar 81 9% 31 Wi & ufa et 31 il @ 7 e 71 fdag Sxidadt @
3T & S0 3BT B ety Bl AT 81 39 uar & o <don siett smawy, R aviiee 39 wen-wRifig e a e 3ud iaw off $wf,
TUGATBIE, §Y, TTICAT URT AT & Wil AR BT SAfard 3 99 71 8 1 IR IqH AJoa1 3R S350 &1 wia reft g =81 ¥ 1 76t vt & fo wifta
P F 91¢ T T RA TS A IR T SR 97 I F AR T 9 auR F 91 W1 R Sar g

IR TR B UgHR A UD T U BT W Ia153:
TRH- <3RS A HiAar F goaR ug § B bar 32
1. ISl

2. flgiag

3. XISl

4. ASTRERY

Correct Answer :-

4) -3raTed Ao HaaT § 3RiT 3 3 UaT B WA @ ¢ | TP U St GRAR R RART Aphal 1 8 AR GERT SN rapert dag 81 98 Th ae A
AR TG 3 AT 1 6 Forror § | 9= 16t AR B 3rbatt B o1 Fifor=r 3.3 w1 78 9wy S fop srpa a1 SR fET A w11 A
Terel A w6l 31 wepia W gfia 81 Tl 99 $o uge R TrgEhar ) ik 31 W oik g1 W iy v arell & g SW Ear A g
TG 78T B 1 98T 91 R & oY §it iR uft §1 UheH wardd | ST HIHT H XM $ UTHT S @ | 9aiP B b Y g Thew ARyl fRufy
81 ST aTod g1 95T Ha1 16 gt | HelT SR ATHd UP-guk & g9 3 | T8I FRYT ¢ {6 Ao ) g 3t Ha BRI Fd § W a8 Ford fomdt
F 7Y | 3o W 59 T D) W @R, TR FR MY 9 WH qq bara-d/Aqad! e g 78 bRy, 3 gR/as Jri qoft ot 9 39 7 91y [T
TR 98 $D 61 B par| 3§ W TF a1l & sred o 81 7S 81 39 R & ofis fee =i ITeT U1 M| 3P e A FAS 11 39 e
¥ gt a1 g1 @ % a8 ion & wifta &1 G F 501 o T 1 98 581 Willd & i IRl 35T uefa A o fua 81 fdae Serdadtt 31
3T E 33t 3BT B Wellyd Bl 3@ 81 S uar & P <Jiom Senht smaxg, R T 39 Tt Me SR 39% Wi oft $wf,
TEATDie, GV, ATSAT HRT G & St XM o7 SIFarS 3T 9 747 81 R IqH AaT 3R 3ol &1 Hia onft g@&r =81 81 981 sRor g fob fia
PG F a1¢ 3 TN WA TR A IR T SR 77 37 FH AR T I aun F 91 I AR Srar g1

ST T B TR K ID T Y BT IR IA184:

TRA- ITH AT 3R FoN Hia 3l @1 7 8 1 g are s fore feran man 2
1. drom

2. foriag B

3. WER

4. X[SIT

Correct Answer :-

5) <3rTed drom Hfadr & 3 7 & ua B AR 36T 3 | T U S GRAR 3R SRR} HRBid HT 8 3R g1 9l S fiiag 31 98 U e o
FAR TG IR THTT BT € FRrror 3 1 = siet faRieht 3t srbe e 1 wnfor=r fA1-3ra vl B 1 ag wwy St b srpa ard ok iR A wRT 313
ot duT wiet B wwpha o gitra 81 9eT 99 7o ugd iR argwmiivar R ik §1 W iR g1 R Ry A aral & fore 99 raR d B
SATE 781 81 98T 981 R & oY {3k ol §1 UpeH pardad | ST HIET H M F U S 81 9aiP Har &b Y 98 Then AR fRify
31 ST8T aTod g1 a5t Har TE gt Hel SR AT UP-guk & g=U 3 | IR FIRYT ¢ {6 Aon ) s 3t Ha BRI a5 § W a8 ord fadt
F €Y | o1 W 59 T B W W7, TR FR M H WH Jq ara-a/Had! f[Te g T8 bRy, 3 gR/AS i ot ol 9 59 7 |1y [ah1 1’



TR 98 O ol X Gdball 39 H T qrarival ot siqa 3t 81 18 81 39 39 €t s Tifeu sit Suet ur me | Suw! akte | Sl 1¢ 1 59 el
T gt a1 g9t & 6 e dion & Tia &) g Y 35071 o TIar 21 98 501 Tt & ufd Aol 3T uefa @ 3 U 81 fdas derdadh &
3T E 33t 3981 B Wellyd Bl 3@ 81 39 var & % <Jiom ekl smaxy, R 9T 39 Tt R Me SR 379d Wi ot $wf,
TEATDHie, G, TTEAT HRT GAT & St XM BT SIFart 3T 9 7147 81 UR IqH Aar 3R 3ol &1 Hia onft g@&r =81 81 981 sRvr g for wfia
B G & 18 T T WA IS A TR T 3R 78 I & e a1 A a9 F a1e W1 e S|

ST T B UgHR 1 ID T Y BT IR IA184:
w=A- g & arend 32

1. EPR

2. farmm

3. 3{THHM

4. 31

Correct Answer :-

6) *3raTed GO Pfarar T A Y U B WA 3T ¢ | b Y&l Sl GRAR 3R SR Wpia BT 8 3R gORT S Srebent e 81 78 To e A
AR JUY 3R AT b1 6 Foreror 8 | w1 S1et ARt &1 3rbet B 1 Fifor=r 373 w81 a8 9wy S fop 3rpa arpd SR R A w11 A
Terel A w6l @1 wepia W gfta 81 Tl 99 $o uga R TrgEhar W iR 31 W oik g1 W iy 7 arell & g Se Ear A g
TG 78T B 1 98T 981 R & oY {3k ol §1 UpeH wardd | ST HIET H XM $ UTHT Sl @1 9aiP Ha &b ¢ g Thew ARy fRufy
31 ST aTod g1 95T Hat 16 gl Hel SR ATHd UP-guk & g9 3 | IBI PRI ¢ {6 Aon ) g 3t Ha BRI F¥ad § W a8 ord fomdt
F 7Y | 3o W 59 T ) W @R, TR FR MY 9H WH qq Sara-d/aad! e g 78 bRy, 3 gR/as Fri qoft ot 9 39 7 91y qah1 1’
TR 98 $O 61 HL gbar| 3§ W TF el o snred o 81 7S 81 39 I € ofis iRT =il ITeT 01 M| IS e A FAS 11 59 e
H gt Ja1 901 3 % 95 fon F wifta 1 g 3 507 +f TEdr 71 g 3T Sl & Ul e 35T uefa § 3o i 31 e St o
3T € S 3= B Bl B ST ®1 S9 Tar ¢ fb <o dreift smawm, w avfiee 3@ we-eRRig TG SR SHS i off Swf,
TEATDie, GV, ATSAT HRT G & St XM 71 SIFart 3T 9 747 81 UR IqH AaT 3R 3ol &1 wia it g&r =81 § 1 981 $Ror g fop fia
PG F a1¢ T TN WA TR A IR T SR 77 I AR T S aun F 91 W1 R St g1

U T B Ugeh H1 IR T U $T IR qaTSd:

WA- B faRIeR Y b B B Aoy fa1-3a Bt 82
1. L

2. %l

3. =T

4. don

Correct Answer :-

7) <3rared drom Hfaar & 3R A 3 ual &) A 3@ 31 TP U S GRAR 3R SRR} Bl BT 8 3R guRT W) Srdbar fiiag 31 ug U e @
BHI THY 3R AT BT 81 o 8 | = S16T kel o) erbar B &Y Wifory faA-3a et § 1 98 99 St % 3rgpd a1 ok Rar A w813
oY AU oigt Bt Tepfa ot g R TET 9 7o UgH ok Trgehar w il @1 W ok ST R Iy w39 arel & R Sq swaR d B
ST 7Y 21 98T adl WX & o I SR ol €1 TheH Sardad | SHST UTHT H YT B UTHT Sierd! 81 Siafd wer P e ug veen faRieh fRufy
81 ST aTod g1 98T Ha1 151 g1t HelT SR ATHd UP-guX & g9 ¢ | T8I FRYT ¢ {6 AN ) g 3t Ha BRI F¥d § TR 98 Ford fomdt
J 7€ 1 I W 39 = ) 3@ TET ©, W R T 9 A T paraa et faen 8 T SeRY, 36 /A1 Fi ol 3T 9P 3/ T WY FPhTI°
TR 98 T 7TEl HR Thdr| 3 1 WD rarfea o5t smea ot 81 7 71 32 30 Wis wifew < sHet 7ot Mo | SHet ariie F St 11 3 e
T 5ot A1 g1 @ 76 e dion & Tia &) g Y 55571 ot T@ar 81 9 581 Tt & ufd o 3T uefa § 3 U 81 fdag derdadht o
3T Et 33t 3981 B Wellyd Bl 3@ 81 39 vaT & % <Jiom Senht smaxy, R 9 39 Tt R Me S 37d Wi ot §wf,
TEATHieN, gV, TTEaT HRT G & St M1 7 SiFart 3T 9 7147 81 IR I9H Asar 3R w5on &1 wia onft g =81 81 98 sror g for wfia
B G & 915 3 T RA IS VIR T SR 78 3 € R T 99U F a1e WA AR S @1

Iue TR Y UgHT A IR T WY BT IR Ia15d:
TR 1 Bt AEpId giyd 82

1. ST B

2. T AP Tl

3. AR &I

4. QB



Correct Answer :-

. GER B

8) -3raTed U HiAaT & AT A 3 U BT WIHA I 7| TH U Wl GRAR IR SRART WpTa BT & SR gORT W1 St fiiag }1 98 U R &
U THY 3R U1 BT 81 forror 8 | T o1gT faRIeh ) Srbar Bt o Wifor=T faA-31d et 81 98 90 St ¥ 3rpd a1 ok RaT R w813
ot Aya wiet Bt Apha o g 31 el W9 7o uga SR arg@tiar wR fft 31 T ofik fAET iR fayr w7 arel & Ry SH RarR A B
ST 7Y €1 98T adl WX & o Fi ok Uit ¥1 UheH Fardad | SHST UTHT § T BT UTHT Sied! 81 Safe war & e g8 uwen faRieh fRufa
31 ST aTd g1 a5t Har TE gt He SR AT Uh-gu & gRU 2 | I8 FIRYT ¢ 6 fon ) s 3t He BRI wad § W a7 o fasdt
F €Y | 7o W 59 T B T W7, TR BR M 9H WH Jq bara-d/Aas! [T 8 T8 bRy, 36 gR/AS 1 ot ol 9 59 7 91y Jab1 1’
TR 9% PO 181 B gbarl 3 Wi T el o anred ot 81 13 31 39 I 9 ofis ke =it Suwt v M| Suwt it § S-S e 3 A
T gt a5t B 7% a8 Fion & it 1 g 3 o1 o vaar 81 a8 st wilih & ufa el 3o vl @ o fua B ke Serdadt a1
3T § 3 3BT B Bty B4 ST 81 39 uar & fF <don sieht smaw, R avivee 39 wen-w kg e an e Su% iaw off $wf,
TGQTBIE, §Y, Tl URT AT & Wil AR BT SAfard 3 99 741 8 1 IR IqH AJoar 3R S350 &7 wia 3t g 81 7 1 76t vy & f wifta
B F 91¢ T T RA IRV IR T SR 98 I F AR 1 9 auR F 91 W1 R Sar g

IR TR B UgHR A UD T U BT W IaT153:
W= 37T ot bt s wfye?

1. AgaTshiat

2. g faRiedt

3. St dfum ey

4. S ST T[0T T

Correct Answer :-

- il IHeBT UMY

9) -3raTed AU BT # RT3 3 U&T B WA W@ ¢ | TP Ul St QAR 3R RARY Aphal 1 3R g1 ot rapent Adfae ¢ 1 98 b avg &
AR JUY 3 AT 1 & Forzror § | 9= STet ARt B 3rbatt B o1 Fifor=r 37131 w81 78 9wy Wi fop srpa arepd iR fET A w11 A
Terelt A w6l 31 wepia W gfta 81 Tl 99 $o uge R TrgE il ) iR 31 W oik g1 W iy 73 arel & g SH Ear A 3
TG 78T B 1 98T 981 R & oY {it iR uft €1 UpeH wardd | ST HIST H XM $ UTHT S @1 9aiP HaT &b Y g Thew ARyl fRufy
1 ST aTod g1 95T Ha1 16 gt Hel SR ATHd UP-guk & g9 3 | I8! PIRYT ¢ {6 Aon ) g 3t Ha BRI a5 § W a8 ord fomdt
F 7Y | 1o W 59 9 ) W @17, TR FR MY 9H WH qq dara-d/Aad! e g T8 bRy, 3 gR/as Jr qoft ot 9 39 7 91y [ah1 1’
TR 98 PO 61 PR gbar| 3§ W WX el & snred o 81 7S 81 39 I € ofis fRT S ITeT U1 M| IS aE A FAS 11 59 e
H gt Ao 901 3 % 95 fon F wifta 1 g 9 5707 + Edr 71 g 3T Sl & Ul e g1 uefa & o fid 31 e dreaddt o
3T &) 52 3=0T B Bl Bl S&T B1 S9 Tar ¢ f6 <o dreift smawa, w avfiee 3@ w=eRRig Mg SR SHS iR off Swf,
TEATDiE, GV, TTSAT HRT G & St XM 7 SIFart 3T 9 747 81 R IqH AaT 3R 3ol &1 wia it g@&r =81 81 981 dRor g fop fia
PG F a1¢ 3 TN WA TR A IR T SR 77 32 AR T S aun F 91¢ A1 AR ST g1

ST T B TGHR 19 U T U PT IR T30
- firiag G oI AeieRaR | Fl T T
1. o BT e & fog

2. o B &b HA & forg

G UIEACEEEANIY

4. XTSI 1 G HA & forw

Correct Answer :-

. diun ) arem F forw

10) <3rATeH U Hfaar § o3 A Y ue B WHA 3G 8 1 TP Ue o qRAR IR SRIRY TEpia &1 8 3R gon <t s fikiag 81 98 Us @ve
A TR IO 3R AT F1 &) 201 8 | I wigt faRie Y srdran o= 35t aforn faq-3a st ] 1 a5 awa <t fs srgpa ared ok fEr & wRT 21
q It dua el ot Tepfa ft gira 31 98T 99 $© T ok argaiiar R ARk 31 T ok fAmt iR Ry w3 arell & o SO AR # 31
SR 1 1 T61 a6t WX § Sl I 3R TUft 31 UohaH Hamad | STHT HTHT & T B HTWT et 3 | Tafs Hen & g 98 Toew R Rufa
1 ST aTd g1 a5t Har TE gt Hel SR AT UP-guk & g=UH 2 | I8t FRYT ¢ 6 Aon ) g 3t Ha BRI o § W a8 aord fadt
F €Y | 3o W 59 T9 B T W7, TR BR M 9H WH I bara-d/Hqas! {3 g T8 bRy, U gR/AS 1 ot ol 9 59 7 91y Jah1 1’
TR 98 O 81 B Johar| I o TV qrarial &1 argd I 81 7 21 39 I & s 1R &t Su@T ur M| IHH! aE | St e g el
H ga- A7 5=t 8 b a5 Fion & Wha 1 g A 301 ot Taar 31 97 sT i & ufa et 31 i @ o e 71 fikdag Hxidadt @
3T & A 3BT B Bty Bl WA 1 39 uar 8 fF <don siett smawy, R avivee 39 wen-wRmiig e e 39% iaw off $wf,
TUGATBIE, §Y, TTCAT URT AT & Wil AR BT SAfard 3 99 741 8 1 IR IqH AJoa1 3R S350 &1 wia areft g 81 ¥ 1 76t vy & fo wifta
B G F 916 A T RE IS | IR T 3R 98 39 E R 141 9 U F a1 T R Jar g



SUYHT TR D1 UGH -1 YD Y U BT IR qa133:
TR - DI TH-gaR & GRAT 3?2

1. AT TR T

2. AT 3R FABR

3. Ham 3R A

4. XTSI 3R AERIST

Correct Answer :-

. Hal AR d1Hhd

11) <3RS U Biaar F 3R A oY ue B WHA 3@ 8 1 TP Ue S qRAR R SRR TEpTa o1 8 3R g1 <t et fikiae 81 U8 U @ve
{ GHR THY 3R AT &1 &1 01 81 Tm wigt faRht Y s o 3t qiiory f-37a ol 81 a8 99y oY 7% 3/ arerd o fRar ¥ w81
T ot dua gl @1 wwpfa W gfia 1 95T 99 3o uga o aigeiRar R ik 31 v ok g R Ry 71 9ral & R s Rar A i
ST 7Y &1 98T agl WX & o Fi SR Uit §1 UheH Sardad | SHST UTHT § YT BT UTHT Siad! 81 Safe war & e g8 uwen faRieh fRufa
31 ST aTa g1t a5t Har TE gt Fe SR AT U-gu & gRUH 2 | I8 FIRYT ¢ 6 Aon Y aoi 3t Te BRI v § W a8 aord fasdt
F 76T | 7o W 59 T B W@ W7, TR BR M H WH Jq Sara-dAas! [T 8 T8 bRy, 3 gR/AS 7 ot ol 9 5§ 7 91y Jah1 1’
W T8 TS 7161 HX ahdr| 3 W TN qrarial 5t snga It 81 7 71 39 3t & s wfte <t 3@ ur M| SHSt aiie § St 1 1 39 e
H gt Fa ot } % a8 Fion & wifta 1 g 3t 51 o vaar 81 a5 s willd & ufa Rl 3w v fa @ o fua 71 fikiae Serdadt 1
3T & 3 3BT F Bty B4 ST 81 39 uar & fF <don sieht smawa, R avivee 39 wen-wRkiig e a e Su% e off S,
HEATHIET, Y, TTCAT HRT AT B &Y XM BT Afard ST a7 741 B 1 R IH TTaln 3R Houn &7 Jia 3t ar 18 31 ot wRor @ fb wfta
B YA & 915 A T RA IS VIR T SR 77 3 € AR a1 Y 9un & a1e Wi R S @1

IRIE TR B UgHR A UD T U BT W Ia153:
v fraat famn smrY g e

1. Haa-dl B

2. At Bt

3. TR B

4, ST Y

Correct Answer :-
.« FHAE B

12) <3raTeH I Hiaar & S5 A oY g B WHA 3G 8 1 U U S qRaR IR SRR} TEpia &1 8 3R guT <t srdban fikiag 81 U8 Us @ve
A TR IO 3R AT F1 &) =201 8 | I wrgt ki Y srdran o= 35t aforn faq-3a st ] 1 a5 awa St fs srgpa ared ok ffr & wRT 21
q It dua el ot Tepfa ot gira 31 98T 99 $© T ok argaiiar R ARk 31 T ok st iR Ry w3 arell & o SO AR A 31
ST 1Y 81 98T agl WX & o Fh ofk Tuft ¥1 UheH Fardd | ST UTHT B T B WTaT et 81 Safd wer & e ag veew ARt fRufa
1 STT aTrd g1 a5t Har TE gt Hel SR AT UP-gu & gRU 2 | I8t FRYT ¢ 6 Aon ) aoi 3t Ta BRI avd § W a8 aord fasdt
F €Y | 3o W 59 T9 F) W@ W7, TR BR M 9H WH Jq Sara-d/Aqaa! e g T8 bRy, 36 gR/AS i ot ol 9 59 7 91y Ja1 1’
TR 98 O 81 B Jopar| I o T qrarial &1 sngd I 81 71 21 39 I & s 1R wit Su@T ur M| IHet a8E § St e 3 el
H ga- A7 5=t 8 b a5 Fion & Wha 1 G A g1 ot Taar 31 97 sT Wi & ufa et 31 i @ o e 31 fidag Sxidadt @
3T & A 3BT B ety Bl AT 1 39 yar & o don siett smawy, R avivee 39 wen-wRifig e an e 39% iaw off $wf,
TEATPIE, GV, TTSAT HRT G & St X1 71 Sifard 37T 9 71 81 TR IqH Aan 3R 5om &1 o it g@&r =81 § 1 98} s & fop fia
B YA & 915 A T RA IS | IR T SR 77 3 R a1 S aun F a1e Hien R S @1

IR T B UgHR - T T UY HT IR qa139:

=A- e R Ft i Fifre.

TSI A FgT, “BR FR T S a1 9 I

1. haa

2. AT

3. ¥

4. WERY

Correct Answer :-



13) 3R SO ST 7 31317 7 G U D1 UTHA TE@T 8| TH U&T St GRAR 3R RARY WP o 71§ SR g1 St bt fiiag 81 98 U e
Y TUR AT 3R AT H1 &1 2101 8 | T oigl faRieh oY Srdran & 3t WIforRT faq-37a Bt 8 | 9% 0y St fb s drepd SR fEar 9 WRT R
Y ToRA dua gl @1 wepia W gfia B1 95T 99 3 uga Siv agewiivar R ik 31 W ok g1 o Ay A arel & g 39 qRar A a1
g 81 81 98T adt WX € oY il SR ot €1 Uwen wardd | 3@t UTeT B WA 3t yTwn et ¥ 99ie Far & g g5 teen faRid Rufa
81 ST aTod g1 98T St A5 g1t Tl SR ATHd UP-guX & g9 ¢ | I8! PRYT ¢ {6 AN Y g 3t Ha BRI F¥d § TR 98 Ford fondt
J 7Y 1o Rt 39 W B AW TET R, WY TR Y 9 A WG Sara-a/aa! e 8 7 Ry, g qu/ats wi ol el a9 39 7 "1y qH11
TR 98 $B 81 B APar| I W T el & sned o 81 78 81 39 R & ofis ive =il 37T 01 M| IS e F FAS e 39 W
T gt a1 51 @ % ag dion & wifta 1 g F1 51 ot T 1 a5 581 Wil & ufa IRl 3T uefa @ 7o fua 81 fikiae Serdadt a1
3T Et 33t 38T B Wellyd gl 3@ 81 39 vaT 8 % <Jiom Siekht smaxy, R 9 39 Tw-T R Me S 379d Wi ot $wf,
TEATHIET, §Y, TTCAT URT AT & Wil I 7 Sfard 3iv 99 71 1 IR IqH Ageaar ik woun &1 e st g =16 81 ot vt 8 o e
B G & 916 3 Tt RA IS VIR T SR 77 3 € AR T S 9o & are Wi R S @1

IUe TR Y UgHT A TR T WY BT IR Ia15d:

.- Rriag St T 11 T 901 3 Belyd 81 SET 22
1. Ao F Wifid B G B TDT

2. g Ferdac I e & 3w

3. TRAR H Tl 971 &1 5T

4. ASTGRER T T &1 58T

Correct Answer :-

. AT & HA DI G DI 3BT

14) 3T AU Hiyar & 3 7 1 U&i P HHA QT 71 TP U S GRAR 3R GRAN WPTa 71 3 3R g1 Wil 3rbent friag 81 98 U ave
Y THR AT 3T THTS P1 &1 2101 8 | i St faRieh &Y Srdran B 3 TIforRT faH-37a welt 8 | T8 vy St fob 3 arepd SR fEaT & wRT R
q ot dua T Bt Tepfa ft gira 31 98T 99 $© T 3R argaiiar R ARk 31 T ok et iR Ry a3 arell & o S0 AR A 31
TG 7T B 1 98T 981 R & oY 9t iR ol §1 e wardd | ST HIET H XM $ UTHT Al @1 9aiP HaT &b Y g Thew ARy fRufy
31 ST aTod g1 95T Ha1 16 gl Hel SR ATHd UP-guk & g9 3 | IBI FIRYT ¢ {6 Aon Y g 3t Ha BRI F¥ad § W a8 ord fomdt
F 7Y | 3o W 59 T D) W @R, TR FR MY 9H WH qq Sara-d/Hqad! e g 78 bRy, 3 R/as Fr qoft ot 9 39 7 91y qah1 1’
TR 98 $O 61 HL gbar| 3§ W TF el & snred o 81 7S 81 39 I € ofis feT =il ITeT 01 M| IS aE F FAS 11 59 e
H gt A1 9901 3 % 95 fon F wifta 1 g 3 507 e 71 g 5T Sl & Ui e 3T uefa & 3o i 31 e dereaddt o
3T &) 52 3= B Bl B ST ®1 39 Tar ¢ fb <o dreift smava, w afiee 3@ w=sRRng e o SHS iR off Swf,
TEATDIET, GV, TTSAT HRT G & St XM B SIFart 3T 9 747 81 R IqH AaT 3R H3on &1 Hia ot g&r =81 § 1 981 $Ror g fop fia
PG F a1¢ 3 TN WA TR A IR T SR 77 37 AR T S aun F 91¢ W1 AR ST g1

ST T B TGP K I 7Y Y BT IR IA154:
- {5 AT 31 AR A DS WF 61 82

1. T TR I e ATt

2. 3 3R T W fayrg B aral B

3. Sfayrt ofR ¢/ Tl

4. I 3R 8T R 3y H=A arall

Correct Answer :-

. T AR 8T R Iy 7 arell

15) “3rTeT AU HiyaT & 33T 7 G gail B WHA 7A@ 7 1 TP U Sl GRAR 3R A WP 71 2 R g1 Wit Srpent frdag 81 98 U @_E
Y TUR THY 3R AT F1 &1 2101 8 | T oigt faRieh Y Srdran Bt 3t TIforRT faH-37d Bt ¥ | 9% 0y St fb 3 drepd SR fEar 4 wRT R
Y ot aUT gl ®1 wepia W gfia 31 96T we 3 uga SR argeiivar R ik 31 W ok g1 W Ay oA arel & g 39 qRar A &+
ST 7Y 21 98T adl WX & o {i ofR ol €1 TheH Sardad | SAST UTHT H YT B UTHT Sierd! 81 Siafd wer P e ug voen farieh fRufy
81 ST aTod g1 98T Hal 151 g1t BT SR ATHd UP-guX & g9 ¢ | T8I FRYT ¢ {6 AN ) g 3t Ha BRI F¥d § R 98 Ford fomdt
J 1€Y1 I W 39 = B 3@ TET §, W R T 9A A T peraa/gaet faen 8 T eRY, 36 /@IS Fi ol 3T 9 3/ 7 91U FPhTI
TR 98 O 7TEl $R Thar| 3 W WD rarfea @5t smea ot 81 7 31 32 370 Wis wiftw < swet qur M| SHSt ariie § St 1| 3 e
T 5ot A1 g1 & 76 e dion & Tia &) g1 Y 35071 ot T@ar 21 9 501 Tt & ufd o 3T uefa § 3 U 81 fdag derdacd &
3T E 33t 38T B Wellyd Bl 3@ 81 39 var & % <Jiom Senht smaxy, R 9T 39 Tw-T R Me S 39d Wi ot $wf,
TEATDHie, gV, TTEaT HRT g3 & St M1 7 Sifart 3T 9 7147 81 IR I9H Asaar 3R wwon &1 wia onft g =81 81 98 srvr g for wfia
B G & 915 3 T IRA IS VIR T SR 78 3 € AR a1 S auR & a1e | R S @1

IUe TR B UgHT A TR T WY BT IR Iad15d:
UYH- AR B frd YR & @ W T 2
1. I SR Tqoft



2. 98T SR fasyrerguf
3. Irordt SR gfgEm
4. 3Hd dTHAR 3R EqH

Correct Answer :-

- T SR TRt

16) WTSIT TH $T FT3aR ¢ df T g,
T IqTe b1 =i &1 Aarar g

I iR A SwR

P Q AT Il §

Pia Pt IR ST Tarat

T B THRR & gaTad
goas 41 yp forn

QT T G FedhT

TS IY BT YIS Jdal AT
et & srem: T &0

ARG AT § T61 ATl g
g P Al &

ST ST

g1 T B ToRI & A
ot A §

Ffamsddafeal
fragdiga g asi &

3R STgaT 7 TP TR 4R @

3R HA TP ToR S @M

TAD TET 4T AT aTiey get-aeY Sl o

wRadr grdl i R Uy R

ﬁaﬁm%wmﬁﬁﬁmﬁsﬁ?
ﬁ'l’-

at at 99 4§ €t yw forar smu

T3 fpd 1Y wiwfte .

1 pargdl B ardl It

Iude TR B UG R TR T U BT I qaTsa:

UH- 9f3aT a9 § H8l aeal g3 A

1. IAG & W H SN

2. A R A IR

3. Uid Blg & IW

4.9 J M

Correct Answer :-

. g R AW

17) WISAC 9 PT FIgaR § A1 FT g,
Td ATel B =it &7 fUar a2
|- R 9 SR

P Q Aol Il §

P B IR AT Taret

T B THRR & gaTa®d
goPx 71 yo fomn

T T °H] ePpT

IS IY BT G5 atel AeT
et & arem: T &0

ARG AT § 61 AT g
g PR AT &

ST ST

g 37edT B ToR| & FHA
Hot A §

a1 e & it



forar g U ger ¢ 3! gl /2

IR 3T A TH R g3 @

R AR TP TR S9 a@T

TAP TET 41 I AT Iet-a S ot o

wRadr grdl ft HE-Y Uy w®

ggaﬁﬂ%ﬁﬂﬁﬁﬁmﬁm

HHDT DLl -

g s, A i Rar

Tt 79 § §t yw foram smud

AT o Y Wi '

T8 pargal @1 Tardt gfear

IU U Y Ugeh? -1 IR 7T U T IR Ta1sd:
- 59 ST3aR B 3] A ford UPR &7 aTeqed 12

1. gl I
2. foar o
3. 91 AT

4. 3TH Al

Correct Answer :-

. g AT

18) WIgde S HT STSaR & oY T §al,
T4 AqTe BT =i &7 fAarar g
I iR @ SwR

TP A TP A §

Pia Pt IR ISl Tardt

T B TR & gaTad
feadt e ...
gwﬁﬁqprﬁm

T 7T JTH ST

3eS IY T Y5 el T
nfewt & drem: g wry

TG g § To1 Al g
citgue g fei @

ST ST

g1 T B ToRI & A
#ft Aaar g

a1 fammrsdt € gfeat
fragidgarg s aei @
3 T3aY A T AR g &
3R A9 T ToR S F@n
TAD TET 4T AT Aoy get-aeY St o

areran grat A AL Uy w®

ggaﬁﬁﬁwﬁﬁﬁmaﬁm
FPPY el -

g urs, ¥ ot R §

aﬁa’r«wqé’rq\wﬁmm

IR U P UGHR 1 I T YY BT 37 138
URH- 99 ST3aR & H1-T18 Uy W o grdy ot

1. ERAdT

2. I

3. T

4, Al

Correct Answer :-

GGG



19) WISAT I BT FIgaR § a1 FT g,
Td 9T P g1 ST fUar ot 8

I iR A IR

P Q Aol Il §

PIa Pt IR ST Tarat

T B TRR & GaTasd

g 741 1o forr
11 °H] ePT

IS IY BT G5 el AeT
et & arem: T &0

ARG P § To1 A g
cMguess A&

3 A

g1 e P AR & A
Hot A g

s fmed g gfeal

T g @ ger ¢ gl wEi @2

IR IR A TP AR T T

3R A9 TP O 39 @

TAP TET 41 T aTTey get-aeT St o

a¥erar gral Ot FA-AY Uy W

ggéwmﬁﬁﬁmaﬁm
FH DR el -

gt F R R §

9 o 59 4 € g feran s

a1 o 1Y Wi .

1 Hargyl B Tard fan

Iudad Ui $1 Ugeh] R T T U T IR qarga:
- 99 § wed g¥ gfeul 59 ver few o A

1. 3RM Y

2. R4

3. qen 9

4. 99 & TTd & AR

Correct Answer :-

. FIBIA P AR
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3. 971

4, 3fsdT
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21) WIFA S BT FIHAR ¢ d1 341 g,
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4. 9dT

Correct Answer :-

23) WISAC I BT GIER g Al F1 g3,
ITd 9T Pt I=1 BT a8
amﬁﬁmﬁw

St ST

g1 T Pt AoRI & A

W war g

1 famrsd € gfeat
fragiigagsaiasi &

3R TR A TF AR T @

SR AR TP ToR SN @M

TAP TET 41 I AT Iet-aSY el o

wRadr grdl f HEY Uy R

gﬁﬁaﬁ%ﬁwﬁﬁwﬁs’fﬂ?maﬂm
FPPY el -

grurs, A e g

aﬁaﬁwqﬁqgsmm

IR UL P UgHR 1 I T Y BT SWR 9aT33:

- 59 Hfaar & e Ao & ¥ s e aiftre sfra g
1. g ot gfsar

2. YRR fUdr
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S ERIE eI
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1. 39S

2.7dl
3. 91

4. 3%
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. YT

25) WISAe 9% T JT3aR & I T garl,
T4 AqTe BT =i &1 fAarar g
A R 9 SR

TP Q AT Il §

Pia Pt IR ST Tarat
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. SRR DI BT



27) WISA< 9% T 134X @ I HT garl,
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. Fyaum
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2. yar g

3. AfSar
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Correct Answer :-

Topic:- Social Science (SSC)

1) which organization has established the Financial Mechanism named The Green Climatic Fund? | fog @rea A q iG]

TS AR e 7 91 ity el =it 9t 22
1. WWF / S&ggecgUth

2. UNEP / gEAsH!

3. UNFCCC / QUATGH

4. UNDP / quASId!

Correct Answer :-

« UNFCCC / guAUGH T

2) Which Greek ruler or ambassador became Vaisnavite and erected Garuda Pillar at Besnagar? / f&d ?I:I'I""ﬁ ATHS a1

IeIgd A AU PR IR F T8 WY F9Ia1T?
1. Alexander / 3SR

2. Selucus / @'@W

3. Heliodorus / gferdlsR™

4. Demetrius/ iﬂﬁﬂﬁ

Correct Answer :-

« Heliodorus / m



3) The main objective of setting up a social science library is: / TSI fA QXABTAT TIMAT FIA BT BT I
__ =

1. For recreation and enjoyment / TARSH 3R 311G & forg
2. As place of preparation for competitive examinations / gfaantt st @) o & WHE S TUH

3. To enable the pupils, engage in self-study and for reference / faenfifat @ - sremae o Gor A SR Wed & o gem
SEIGH

4. As a common place for independent study / ESRERCLpE] $ ﬁﬂz U HqMHIY SITTg % g ﬁ

Correct Answer :-

« To enable the pupils, engage in self-study and for reference / faenffat @ - sremae o o AT SR Wed & o gem

4) The evaluation which compares a person’s knowledge or skills to the knowledge and skills of a particular group is known as:

| 98 qeuie S frdt safdd & g1 ok Biera 31 gom fed kv a4 & 71 3k Sivra @ sar @
1. Criterion-referenced evaluation /W—ﬂﬂf\“—hw

2. Formative evaluation / fATONE® / Te-TeTdh HFCI'W

3. Norm-referenced evaluation /\’ﬂﬁﬁﬁ W

4. Summative evaluation / GRS / Gha-THS / 3ifaq W

Correct Answer :-

« Norm-referenced evaluation /31fd fRId W

5) Milindapanho text is in the form of a dialogue between the king Menander and Which

Buddhist monk? / faftigus 3y e fiRveR ok forw dis fig] & o arafemy &1 quf= 32
1. Nagasena / T
2. Nagabhatta / FFTHE

3. Nagarjuna /WT{[?
4. Kumarilabhatta /?ﬁTﬂﬁH’g’

Correct Answer :-

. Nagasena / TRRH

6) A Commission to review the working of the Constitution was appointed by Government of India under the

Chairmanship of ./ HRd PR gIRT aﬁam&mﬁwﬁm%ﬁaﬁmﬂ&n%mwm
Frgea o mar

1. Justice Sabyasachi Mukherji /WW H’@l\_rﬁ
2. Justice Ranganath Misra / WWU fosm

3. Justice J. S. Verma / Wa@ gaf

4, Justice Venkatachaliah / WW

Correct Answer :-

. Justice Venkatachaliah / <ITHfef ddeaaan

7) Topics of study suitable for the age, ability and interest of children are included in the curriculum are known

as ./ T B AR, & R BRI & fore Iuged srerae & fawa ) ureusy o e frmrsrar g, ™ wan



ST 81

1. Topical approach / AT ERHIT

2. Unit approach / THTS DB

3. Spiral approach / gitfa efda

4. Chronological approach / WW%@@UT

Correct Answer :-

+ Topical approach/wmgw

8) Black money is also known as ./ BT Y[ B & =g H off ST ST g1
1. Dynamic economy / U3 o

2. Moderate economy / H&H SrfeawyT

3. Parallel economy / JHHIR SifegaRt

4. Stagnant economy / fRR srfeaw

Correct Answer :-

« Parallel economy / THFIGR SSeTaRT

9) “Nature provides opportunities and human being make use of these” is central theme of which of the following
geographical philosophy. / "UHTd THR USTH Bl 8 3R AIHG 3T IUANT Hal " A9 # A fory vimifers
SRR &1 $a v g1

1. Possibilism / JHddTIgG
2. Marxism / ATGIATG

3. Feminism / TRIATG

4. Determinism / FafddTg
Correct Answer :-

« Possibilism / GHddIG

10) In which case the Court ruled that nobody, not even the Parliament (through amendment) can violate the basic

structure of the Constitution? /mmﬁwﬁmﬁm%aﬁéﬂﬂ,ww%m (WW%’TWW ﬁ)
TRIYT & T o1a $T Ieau- A81 B TPHdl 82

1. Minerva Mills vs. Union of India /ﬁﬂa’f g §99 YR 99

2. Mukti Morcha vs. Union of India / Hﬁf Hrat S| YRd 99

3. S. R. Bommai vs. Union of India / T¥. 3R, aﬁm's‘ g4 YRd 99
4. Kesavananda Bharati case / W YRl TR

Correct Answer :-

« Kesavananda Bharati case / av_-‘flaﬂ_d YR UH0T

11) Who established the Indian Statistical Institute? / HRAH FifRIe! TR B RITYAT fraa B2
1. Jawahar Lal Nehru / STdTgR dlcl 316?3

2. V.K.R. V. Rao /d1. &. 3R. &% 3@

3. R. C. Desai / 3. T, aql_ip



4. P. C. Mahalanobis / ot 9. ﬂ%’lﬁ?ﬁﬁﬂ

Correct Answer :-

« P. C. Mahalanobis / o, . ﬂ%’lﬂtmaﬂ

12) Who can increase the number of judges if deemed necessary? / afe Smawa® GEELRS Y O T Ft Sen i
1 HHdT 2

1. President / Tl'gqﬁf

2. Chief Justice / J¥BH ety
3. Parliament / TG

4. Cabinet / AaHsd

Correct Answer :-

« Parliament / §9G

13) Who is the exponent of Play-way method? / -3 faf¥r & ufoures 9 %.?
1. Maria Montessori / ATRAT ATCER
2. Friedrich Froebel / TFeR® Whiad

3. D.W. Allen/ 31. 39, TaH
4, Jean Piaget / EIRIERIS]

Correct Answer :-

« Friedrich Froebel / ThgRas Thlad

14) Who can create Vidhan Parishad in a State? / IIsd  faum= tlﬁ'ﬂﬂ' &1 fAmfor 1 & g&dr %?
1. Chief Minister / TAHAT

2. Governor / XISGUTed

3. Cabinet / AfHsd

4, Parliament / ¥9g

Correct Answer :-

« Parliament / §9¢

15) India Gate was built as a memorial to the soldiers of ./ Sf&a e ot F Afwl B F[Ftl’ s
RS & U H T11 797 4T

1. World War I /CIE@I ]%W

2. Indo-Pak War 1965 / HRd-Uld & 1965
3. Bangladesh War /aT'Fﬂé{QT &

4. World War II / ﬁi’ ﬁ?ﬂ'ﬂ@

Correct Answer :-

o World War I ﬁl%ﬁ ﬁ&ag:gz

16) has the sole right to mint coins. / F U fyaP g &1 THATH RBR g1



1. State Bank of India / HRAg Xe §h

2. The Reserve Bank of India / YR Rold §
3. The Commerce Ministry / IOy HaATer

4. The Government of India / HRd dXDPR

Correct Answer :-

« The Government of India / HRd RPN

17) is a community-based poverty reduction programme being implemented in Kerala for the emancipation of

women. / ____, e # Afgensii 31 gie & fg To wqer-snuid s Fare sriwa 1
1. Kudumbashree / Sgrasi!

2. Kudumbayogam / HgEaRTH

3. Kudumbasametham / $greaaYyH

4. Kudumbavilakku / giaidedd

Correct Answer :-

+ Kudumbashree / W%ﬁ

18) evaluation is school based and aims at all round development of the student. / HAip ¥pd

YT g SR B & waftfiur faera o1987 31
1. Intermittent / TR

2. Continuous and Comprehensive / ddd 3R IS
3. Periodic / ITHRI®

4, Phase-wise / IRUI-dRR

Correct Answer :-

« Continuous and Comprehensive / Idd 3R IS

19) The members of the Rajya Sabha are elected for a term of . /me%?mw‘faﬁ C X auankg
e g ST 81

1. 6Years/6a'5f
2. 2Years/23'5f
3. 4Years/4a'5f
4.5 Years/5_0|'5f

Correct Answer :-

. 6Years/63'5f

20) The Directive Principles of State Policy have been adopted from Constitution. / T Hifa & fifa ﬁ%’{ﬁﬁ aoal
Eal & AU & U= T 7

1. Netherlands / BIESGE
2. Swedish / WIS

3. Irish / Il

4. Canadian / W



Correct Answer :-

o Irish/ mafeRr

21) The Pioneer of activity-based learning is J ifafaf-smenfea srRrmT & uyw sAus gl
1. John Dewey/\?ﬁﬁ

2. David Horsburgh / sfas BW

3. Robert Slavin /J[a¢ TS

4, Adam Wesley / TSH It

Correct Answer :-

« David Horsburgh / sfas EW

22) The emission of gas as a result of the greenhouse gas effect from various agricultural activities causes

negative impact to the society. / fafi 7&( TfafalRr & dieew T & YU & TRV ko)
IHui ATATaRYT UR THRIHS YHTT STedT 3 |

1. Chlorofluorocarbons / FARTIARIBTST
2. Helium / gIfcrad

3. Nitrous oxide / IgCH Hm
4. Ammonia / 3T

Correct Answer :-

« Nitrous oxide / FIgCH Gﬂ%m'lg_é

23) The technique for generating creative ideas and solutions through intensive and freewheeling group discussion is

known as ./ g1 3R WG Tygaaf & ureay | FATHS faR) iR THIYFH SAT FA P apId H_ P
U A SET ST B

1. Panel discussion / U= T

2. Brainstorming / §fGgfterd

3. Dialogue / JdT

4. Debates / aTe-faarg

Correct Answer :-

« Brainstorming / § Sefied

24) The Integrated Rural Development Programme (IRDP) was introduced in . /Q?ﬂﬁ Iyt fae
PTIHH (IRDP) H i v wa T

1. 1971
2.1973
3. 1966

4. 1978

Correct Answer :-

e 1978



%Vhich of the statement regarding Barbara caves are true? / §IRERT 'ﬂ'q)'[\"lﬁ ¥ A9y ¥ FEfafad § 9 o 91 $y= a8t
>

i. These caves are the oldest surviving caves./ q '{'['flﬂ'\ll,i LCE ] E?'Fﬁ Sifaa 'ﬂ"FI'ﬁ,' %'I

ii. They were built during the reign of Ashoka. / S TPT fafor st & e A g3T UTI

iii. They were dedicated to Ajivikas. / 3 3reiifaeT &t gufta 2

1. All are correct. / IHt HTGD[ %l

2. Only ii / Had ii

3.Only I/ $dd i

4. Only iii / Pad iii

Correct Answer :-

« All are correct. / g+t H—Eﬂ %l

26) Which of the following has highest Albedo? / FEfIEd ® A fra®T Twis! (wwTRIgUTa) Faw i ghar 82
1. Fresh Snow / dTelt &9
2. Sand /d

3. Forest / d-1

4. Dry Soil / g1 gl

Correct Answer :-

o Fresh Snow / arelt g9

27) Which of the following was the main objective of first five year plan of India? / fFrafafae § @ #19 YR @ uyw
Teaia i1 &1 g1 3534 UI?

1. Service sector growth / Jar 83[ fawrg

2. Industrial growth / thnm EEQR]

3. Agricultural growth / Q’Tﬁf fowra

4. Growth in manufacturing / ﬁ'ﬁ'ﬁl‘fm A faerg

Correct Answer :-

o Agricultural growth / Efftf fowr

28) Which commission identified 3943 castes as Other Backward Classes and recommended 27% reservation in
government and semi government jobs and admission to educational institutions? / g smarT = o=y ﬁw T HFETH
3943 SIfadl o1 UgAM $1 3R WHRY T 3ref TRprY Npfval 3R Aerfore T § wawr & 27% MREur &t
ez @t

1. Kalelkar Commission / HTAABT T

2. Mandal Commission /IEFT STANT

3. Ramanand Prasad Commission / XTHHG UG 3TN

4. National Backward Classes Commission / ?T@q ﬁf@@T aﬁ STRT

Correct Answer :-

« Mandal Commission / H&d STRT



29) Which Amendment introduced the word ‘Socialist’ in the Preamble to qualify our ‘Republic’. / T F=meq | gAR

RTUT BT SEdT YT B & 1T, YRATa-T H HHTSTATET Xeg D1 A T T AT
1. 4204
2. 46™h
3. 4gh
4. 44t

Correct Answer :-

. 421‘1(1

30) Social Science exhibitions, fairs and cultural shows are meant to WE:IlSED ﬁ?lﬂ uﬂ'ﬁ, A i
ARPIAP HRIHH BT HRI gl

1. provide a creative channel for learners /QT&HW & ﬁfq Uh HySHIHD él"lﬂ UGl DRl
2. show the talents of social science teachers / JTHTNID AT fRrerept bt ufarHT fo@m
3. increase the reputation of the school / ¥ ¢l CIRIGRIEHE!

4. invite and entertain the parents / AT &Y AT 3R ST HARSH Bl

Correct Answer :-

« provide a creative channel for learners /ﬁT&‘ITﬁkﬁ & 1%1? Uh Hy o qIHD ‘?Hﬂ UGl hRAl

31) To know the opinions of learner’s on the ‘Right to Education’, the teacher uses which of following processes? / ‘QT&IT Cal

IR fawa w Rignfial @ wra M & g, Rigre FafafEa & S e uiva o1 suah swar 32
1. Shows a video clipping / T I faaft fazarar g1

2. Gives a project / TREAISHT (Woide) a1 B |

3. Conducts a discussion / T TN BT 8|

4. Provides a problem / T THET ST 8|

Correct Answer :-

e Conducts a discussion /Zﬁl‘f ST BT %l

32) The term ‘Civics’ in Social Science text changed to ‘Social and Political’ with the recommendation of: / IESED ﬁiﬂq s A

9 & RIY W IR AR Ieg F1 ATHIRG 3R Ie-ifas” & gqa faar mar: -
1. Secondary Education Commission / ATEHIfHd fR1&T ST

2. NCF 2005 / TTHIT® 2005

3. Justice Verma Committee / <OTd T ATHTcT

4. NPE 1986/ T-T01S 1986

Correct Answer :-

« NCF 2005 / TTW 2005

33) “The central function of Social Science is identical with the central purpose of education i.e., the development of democratic
citizenship”, was stated by: /

TR fagT 1 Hdta o Rien & Sy 3T F U 8, 3rdfa, dedife ariied o1 fae™, a8 Fw grr
el T YT-



1. James High ISt 81‘5‘

2.]F. Forester/a.w. BRI

3. John V. Michaelis / ST dT. HTgHTerg
4. Edgar B. Wesley / TSR CIRGR|

Correct Answer :-

« John V. Michaelis / STf=T . ﬂmﬂ

34) In Vedic Era, Akhyani was the goddess of which of the following? /%ﬁw g A «3ragfly it & A feast a'Cﬁ
UiF

1. Forests / d-
2. Rivers / fadl
3. Fire / 30

4. Peace / TMMfd

Correct Answer :-

 Forests/dd

35) The scaled-down teaching encounter in class-size and class-time is known as . /3?&‘“%'7 TP GﬁTa?&IT &
g Rrgvr ¥ e Ht S, F U B ST ST @

1. programmed instruction /At fAdR
2. micro teaching/g&H RI&0T

3. simulation /RIGARA (3HR)
4. team teaching / <1 fRreror

Correct Answer :-

+ micro teaching/¥&H fRrgror

36) Which of the following cities was the capital of India from 1772 to 1912? /
fFraffad % ¥ @19 a1 e av 1772 | 1912 9% YR B IeiuTH 412

1. Daulatabad / GIddTETG

2. Delhi / feeeht

3. Bombay / S

4. Calcutta / dddpdl

Correct Answer :-

o Calcutta / dddddl

37) Ahmad Shah Abdali invaded India for the first time during the reign of which among the following Mughal
Emperors? / fFufeiaa ga aurel # & forads ma-aTa # SgHg T SisgTelt A HRA R UGt IR 3THHUT fHaT 412

1. Ahmad Shah / 3{gHq RTe
2. Muhammad Shah / Hg®¢ RI8
3. Shah Alam-11/ RTg AHTTH-1I



4. Akbar-II / DHER-II

Correct Answer :-

« Shah Alam-II / QT AHTTH-1I

38) CCE stands for: / ?ﬂ?ﬂé &1 Hddd &:

1. Continuous and Cumulative Evaluation / ¥dd @TMW @ﬁ%ﬁq&q@ﬂaﬁﬁaw

2. Continuous and Cumulative Examination / Idd @Tﬂﬂqﬁ&ﬂ @‘@W@Wﬁamﬁm

3. Continuous and Comprehensive Evaluation /ﬂﬂ—dﬁ?ﬂﬂﬁfﬁm *icqiwd (@T'C(\H-LLH{-I Hsﬁtm%@as’aqmm

4, Continuous and Comprehensive Examination / ddd dJl gfgavor uten (ﬁm TS Hinfigad QEIGT&I#‘W)

Correct Answer :-

« Continuous and Comprehensive Evaluation /WHWWH@W (m@mw

39) The exponent of theory of multiple intelligences is: /E§'—§Iﬁﬁ-ﬂ Ry & ufoures A &
1. J.P. Guilford / &, dt. fIaTw1S

2. L.L. Thurston / ¥d. Ud]. YT

3. Howard Gardner / E'Ta'é ‘TTS‘E:R

4. Robert J Sternberg / RA§E of AT

Correct Answer :-

o Howard Gardner/ E'Ta@f‘ @;‘:R

40) Branched programming is also known as: / st wnfRT S e A o ST Srar %I
1. Intrinsic Programming / A TR

2. Extrinsic Programming / STgI PlpliED|

3. Straight line Programming/ HTeT a1 UTfHT

4. Skinnerian Programming / e urnfiT

Correct Answer :-

« Intrinsic Programming / SR TR

41) The World Trade Organisation was established in the year ./ fay =R e Bt R 9y ugs
At

1. 1995
2.1991
3. 1994
4. 1989
Correct Answer :-
« 1995

42) Which of the following is not a characteristic of Palaeolithic Age? / Fratfefeaa ﬁﬁaﬁqmﬁmm
B U faRwar gl 82



1. The Paleolithic also used microlithic stone tools. / GRTUTSTUT YEATRHTI TRR & SRI &1 off S¥HTA o o

2. During the Paleolithic age hominids grouped together in small societies such as bands./ WFGITUTW%?EE NE|
ST §5 S B JHTST H U 1Y Iga<S 31

3. The Paleolithic is characterized by the use of knapped stone tools, although at the time humans also used wood and
bone tools. / GRTUTHTUN &1 FIHER TR & SNTRT &b IUTNT F UM Sffd 8, et 39 YAy Ad ddbe! 3R 831 &
SHISTRY 7 ot ST Hovdt A

4. They subsisted by gathering plants and fishing, hunting or scavenging wild animals./ 3 Orelf Bt RPg PP AR TS
TSR, RIBGR B T HR §U STTell SHGR] 1 Wb siifad 8 U

Correct Answer :-

» The Paleolithic also used microlithic stone tools. / YRTUTHTUT ﬁ&ﬂTQ'JﬂH TR & ORI &1 of SwmTe Fvd A

43) Who fought Mohammad Ghori at Battle of Tarrain in 1191 and 1192 ? / 1191 3R 1192 % TRTs< & g5 ¥ Higwlg ™Y
BT gPpTaal fora fosar 2

1. Lakshmana Sena / GI&F0T T

2. None of them / E:I'e[ @ﬁ'ﬁf '_‘|_ng

3. Jaichand / ST9<

4. Prithvi Raj Chauhan / G2@! IS g

Correct Answer :-
« Prithvi Raj Chauhan / G2@! TS 918
44) CANCELLED

When farmers sell a portion of their agricultural goods in the market, it is called ./ o9 mﬁ, ToR H 3(u-t

PRGN PP FRMITAIE, IV weremare!
1. Marketed surplus / fauforg SRy ({Idh s TWwr)

2. Marketed output / fdGfOId IdTG—

3. Surplus goods / STIRIT ATA

4. Total output / P TG

Correct Answer :-

« Marketed surplus /ﬁuﬁlﬁ IRy (Il'lﬁg IWTY)

45) Literacy refers to: ; I&Rdl BT areqd gl
1. Reading only /Had qa?f

2. Speaking only/ FHad are

3. Writing only/ &Had fera

4. All of the above / JURIa it

Correct Answer :-

« All of the above / SURIGd gt

46) During the reign of which ruler of Bahmani kingdom was the capital shifted to Bidar from

Gulbarga? / SgH-1 HTHTSY & 5T ARIE & ARSI & QIR AU TAST SR MR &2 ¢ i A2
1. Ahmad she}h / 31314?{ Qe



2. None /mﬁmﬁ
3. Aluddin shah / 3{d 3§ EUR
4. Vira shah / ﬁﬂ?ﬂ?

Correct Answer :-

« Ahmad shah / 3{gHq RIg

47) Which ruler of the Vijayanagar empire wrote a famous book 'Amukta Malaya'? / oo R 9IS %
5T II® A T URIs Ia® "srgdar Haa' forddt 42

1. Harihara / E’ﬂ’ﬁ

2. Dev Raya Il /SARA 11

3. Dev Raya | /TARA 1

4. Krishna Deva Raya / Wﬁa QK|

Correct Answer :-

« Krishna Deva Raya / 9I¢d X4

48) was the committee constituted on ‘Revitalisation of Panchayati Raj institutions for Democracy and

Development’. / TPd 3R ey & g daradht vo dwiei $ TR w__ afify &1 7o+ far mar uni
1. Ashok Mehta / 3{=0d Tl

2.G VK Rao /S dl & 31

3. L M Singhvi / Td T gt

4. Balwant Rai Mchta / Sefdd 19 Hgdl

Correct Answer :-

« L M Singhvi / Ta TH Rfud

49) Which ruler defeated Harshavardhana? / ﬁmw%aﬁaﬁqﬁm?

1. Vasudeva of Chahamana Dynasty / dleld (<IgHIT ) CRIECD difcad

2. Nagabhatta I of Gurjara Pratihara Dynasty / ‘:J,Gh JfeRdv & ANTHE UYH
3. Pulakeshin II of Chalukya Dynasty / ST R W EGIR

4. Shashanka of Gauda dynasty / TﬁT‘S’ I & TRAH

Correct Answer :-

« Pulakeshin II of Chalukya Dynasty / e =T & QT“IW fgara
50) Arrange the following events in the order of their chronology:
1. August Offer

2. Poona Pact

3. Third Round Table Conference

4. Khilafat Movement /

Frufefea ge-ref 1 3% STerHd & HH H afeud H:

1. ST U9



2. QAT qHSIAr

3. TR Mo g
4. fEeTwa srigie

1. 1-2-34

2.4-3-2-1

3.2-3-1-4

4,4-2-3-1

Correct Answer :-

. 423-1

51) During the integration and merger of states after India’s independence, the Government of India rejected the farman

of which State’s ruler? / HIRd &1 =T & d1¢ IsU] &b TH BT 3R fIeg F IRM, HRd PR A fra =g &
S F B P SRAIPR B fear?

1. Raja of Kashmir / HIR & Il

2. Ruler of Travancore / AAUGR & ATTH
3. Ruler of Junagarh / S[1'Te & YD

4. Nizam of Hyderabad / %ETWI_CI & o

Correct Answer :-

« Nizam of Hyderabad / %az TG o o

52) On which of the following proposals Mahatma Gandhi remarked “A Post-dated cheque on a crumbling bank”? /

et "ith A g & A fry uwarg R feuoll #t fr "ag om) &) afia &1 3% U1, ST §& 99 81 arar uti?
1. August Offer / 3T UXdTd
2. Communal Award / GHIGTRI® TR

3. Government of India Act 1935 / HRd TRBR HTAIH 1935
4. Cripps Mission / fob e TR

Correct Answer :-

« Cripps Mission / fore o

53) Tibetan Plateau can be best placed in which among the following categories of Plateaus? / fassdt TR &1 TeR Ft

frafafad aftra A g ®IM W a1 & 9odr &2
1. Intermontane Plateau / 3/dRTUddIT TSR

2. Dissected Plateau / fawsfed TR

3. Volcanic Plateau / SATTIE TSR

4. Continental Plateau / n’s’mﬁﬁ U3R

Correct Answer :-

. Intermontane Plateau / 3ARTUAAT TSR

54) Stream flowing in the direction opposite to the original consequent slope is known as. / URFUS Gm?ﬁ A&

faudia fe=m & yarfed 4R &) g & = & ST S g



1. Obsequent / W?ﬁ
2. Resequent / :ﬁTﬁ?ﬁﬁ

3. Sunsequent / G'I_jﬂ?ﬁ
4, Insequent / fHAT!

Correct Answer :-

+ Obsequent / umaa?ﬁ

55) What percentage of the world's volcanic activity occurs within the oceans? / fay =+t WI?ITﬂ'Eﬂ Tfafafer &1 fae
wfa=ra TeTanRl & iR gar 82

1. 40%
2. 50%
3. 70%

4. 90%

Correct Answer :-

e 90%

56) Which of the following is the largest mangrove forest in the world? / FPrafafea § @ o4 fay & ge9 98T At a1
&?

1. Greater Antilles Mangroves, Cuba / D[R} Q_Cﬂﬁﬁf ﬁ.‘;n—d, ST
2. Sumatra Mangrove forest, Indonesia / Wﬁ;‘;ﬁaa:f, SSHIRMA
3. Bahia Mangroves, Brazil / Srfean ﬁ’zﬁa, IS

4, Sundarbans Mangrove forest, India / W =) g, HRd

Correct Answer :-
« Sundarbans Mangrove forest, India / w =) gq, HRd

57) The Gandhi Sagar Dam is built on which river in Madhya Pradesh? / il IR Sy 7 ueR W ford A W S\
TR

1. Narmada / 'T‘:TET
2. Tapti /aTGﬁ

3. Son /@:T

4. Chambal /W

Correct Answer :-

« Chambal / ddd

58) Guantanamo Bay is located in which country? / LCIGIRIE ] E'I_g'} fra I d g %?
1. Cuba / HJdT

2. Haiti / geil

3. Bahamas / dgTHY

4. USA / 3fia1



Correct Answer :-

+ Cuba / Hdl

59) The Dehang-Debang Biosphere Reserve is located in which among the following states? / Fafafea A4 g wsa d
BT Aawsa Rord fRua 82

1. Arunachal Pradesh / 3TSUIIT We=T

2. Manipur / A0TGR

3. Assam / 3IH

4. Sikkim / ffdpH

Correct Answer :-

« Arunachal Pradesh / 31U TS

60) Solar Valley, world’s largest solar water heater manufacturer is located in which of the following countries? /

frafafaa & | fea 3= & dier a1, fay &1 9ad 9871 4R oid ave fmfar fRa 2
1. Japan / SITUTT

2. China / °H

3. Australia / 3fIcferT

4. Germany / ST

Correct Answer :-

e China/ G



